
第1問
テーブル「test.member」に登録されたレコード
ID(INT) Name(VARCHAR(45)) RoleID(INT) TeamID(INT)

1 鈴木 1 1
2 田中 1 2
3 山田 1 3
4 佐藤 2 1
5 大井 2 1
6 横本 2 2
7 杉野 2 2
8 遠山 2 3
9 安藤 2 3

※主キーはID

実行するSQL
SELECT
  *
FROM
  test.member
WHERE
  TeamID = 2

取得されるレコードのセットは以下のいずれか？

（1）
ID Name RoleID TeamID

2 田中 1 2
6 横本 2 2
7 杉野 2 2

（2）
ID Name RoleID TeamID

1 鈴木 1 1
2 田中 1 2
3 山田 1 3
4 佐藤 2 1
5 大井 2 1
6 横本 2 2
7 杉野 2 2
8 遠山 2 3
9 安藤 2 3

（3）
ID Name RoleID TeamID

4 佐藤 2 1
5 大井 2 1
6 横本 2 2
7 杉野 2 2
8 遠山 2 3
9 安藤 2 3

（4）
ID Name RoleID TeamID

2 田中 1 2


